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)
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ga

Fs

Fs

o ck
o ca
Ta

3.600 (m)

10.0  (kN/n?)
24.5  (kN/m)

30.00 (°)
19.0  (kN/m*)

0.577
0.0  (kN/m)
149.32  (KN/?)

1.50
1/6 B
1.50

30 (N/mm*)
10.00 (N/mm?*)
0.45 (N/mm*)

160 (N/mm*)

)

No.



§2
2.1

CLP  (H)3600x (B)2400
0.120

K>

10kN/m?

3.600

H=

B= 2.400

i

No.



§3
3.1

3.1.1
@

ZV 2 H e Qqu [0}
(kN) (kN) (n) Fs Fs (kN/? )
192.67 53.04 0.344 3.59 2.10 149.32 11.24 | 0.K.
0.400 1.50 1.50
e = 0.344

149.32

11.24

No.



3.1.2
@
ZV 2 H e Qqu [0}
(kN) (kN) (m) Fs Fs (kN/m? )
169.87 53.04 0.398 3.14 1.85 141.20 0.35 | 0.K.
0.400 1.50 1.50
RIR7

141.20

0.35

No.



3.2
3.2.1

3.2.2

No.

b (mm) 1000 1000
d (mm) 80 220
D19 - 6.5 D19 - 6.5
2
As () 1862 1862
X (mm) 44.5 86.4
Y N ) 0.53 x 10° 45.41 x 10°
3 3
S ™ 2.64 x 10 40.80 x 10
ogc 0.37 5.50
(N/mm*) o ca 10.00 10.00
gs 4.4 127.6
(N/mm*) o sa 160 160
T 0.03 0.19
(N/mm*) T ca 0.45 0.45
b (mm) 1000 1000
d (mm) 220 80
D19 - 6.5 D19 - 6.5
2
As () 1862 1862
X (mm) 86.4 44.5
y D) 45.41 x 10° 2.83 x 10°
3 3
S ) 14.08 x 10 17.97 x 10
gc 5.50 1.95
(N/mm*) o ca 10.00 10.00
gs 127.6 23.3
(N/mm*) o sa 160 160
T 0.06 0.22
(N/mm*) T ca 0.45 0.45




§4

4.1

4.1.1

D

4.2

1.000 m

x y)

No.



4.2.1
@
1)
A X y A X Ay
(m m @) | (m (m (m) (m)
2.400x 3.600= 8.640 | 1.200 | 1.800 |  10.3680 |  15.5520
a - 0.140x 0.600= -0.084 | 0.190 | 3.300 | -0.0160 | -0.2772
b|-1/2x 0.140x 2.740= -0.192 | 0.213| 2.087 | -0.0409 | -0.4007
c|- 1.840x 3.340= -6.146 | 1.180 | 1.930| -7.2523| -11.8618
d|-1/2x 1.840x 0.140= -0.129 | 1.487 | 0.213| -0.1918| -0.0275
el - 0.300x 3.480= -1.044 | 2.250 | 1.860 | -2.3490 | -1.9418
1.045 0.5180 1.0430
al
Vo=3SA L= 1.045x 1.000 = 1.045 (r°) i
0
V =Vo yc= 1.045x 24.5= 25.60 (kN)
SA x 0.5180
X s A 1.045 0.496 (m)
TA Yy 1.0430 C,
y S A 1.045 0.998 (m
@
1)
A X y A X Ay
(m m @) | M (m (m) (m)
2.280x 3.480= 7.934 | 1.260 | 1.860 9.9968 |  14.7572
a| -1/2x 0.140x 2.740= -0.192 | 0.167 | 1.173| -0.0321| -0.2252
bl - 0.140x 0.140= -0.020 | 0.190 | 0.190 | -0.0038 | -0.0038
c|-1/2x 1.840x 0.140= -0.129| 0.873 | 0.167 | -0.1126 | -0.0215
7.593 9.8483 | 14.5067
Vo= XA L= 7.593 x 1.000 = 7.593 (n°)
V =Vo ys= 7.593x 19.0 = 144.27 (kN)
a
SA x 9.8483 ‘
X = s A 7 593 1.297 (m)
b C
SA y 14.5067 &
y S A 7.593 1.911 (M

No.



4.2.2
V =g b L=10.0x 2.280 x 1.000 = 22.80 (KkN)
x =B -2 = 2.400- 228 _ 1 260m)
2 2
4.2.3
W sin(w-¢)

cos(w-¢ -0 -a )

Pa (kN/m)

W (kN/m)

W ¢)

® ¢)

g ¢)

a ¢)
V =Pa sin(6 +a) L
H =Pa cos(® +a) L

Vo, H: (kN)
. )  L=1.000 (m)

— .
~

No.



No.

h =  3.600 (m)
Pa
a = 0.00 ) KN/m)
W= 92.99 (kN/m) [ 21.04] 5y
® = 59.70 °)
5 = O.OO(O) 50.0f T
® = 30.00 C°)
25.01
0% 4 50 go 70 90
w(C)
by = 92.99 x sin(59.70 - 30.00)
cos (59.70 - 30.00 - 0.00 - 0.00)
= 53.04 (kN/m)
M
w Pa W
64.00 52.355 77.62
63.00 52.654 81.08
59.70° 62.00 52.864 84.60
61.00 52.996 88.20
60.00 53.035 91.86
* 59.70 53.041 92.99
59.00 53.003 95.62
58.00 52.868 99.43
57.00 52.649 | 103.33
56.00 52.348 | 107.33
55.00 51.951 | 111.41
V = 53.04 x sin( 0.00 - 0.00) x 1.000 = 0.00 (kN)
H = 53.04 x cos( 0.00 - 0.00) x 1.000 =  53.04 (kN)
X = 2.400 (m)
y = ~ 3.600 = 1.200 (m)

3



No.

8§85
5.1
1)
>V tand +C B L
Fs = = S H Fsa
Fs
Fsa : Fsa = 1.50
>V (kN)
>H : (kN)
tand :
tand = 0.577
C C = 0.0 (kN/m*)
B B = 2.400 (m)
L ( ) L= 1.000 (m)
2)
2 Mr
Fs = s Vo Fsa
Fs :
> Mro: (kN m)
> Mo : (kN m)
Fsa : Fsa = 1.50
d e
g = ZMr-2M
- TV
B
e = > T d
>V (kN)
> Mr (kN m)
> Mo (kN m)
B B = 2.400 (m)
e
1
e 6 B

10



3

Qr,Q2 -
2 Mr :
2 Mo :

>V

o ® r

(KN/m?)
(N m)
(N m)
(kN)
B = 2.400 (m)
L =

B
S - d

2 sV
T3 gL
(o} >V 6 e
¢ B L CF g

2 sV
® T3e-0 L
1.000 (m)

(m

(m

)

No.

11



5.2
5.2.1

D

2)

No. 12

No v H X y Mr Mo
(kN) (kN) (m) (m) (kN_m) (kN_m)

1 25.60 0.496 | 0.998 12.70

2 144.27 1.297 | 1.911 187.12

3 22.80 1.260 | 3.600 28.73

4 53.04 | 2.400 | 1.200 63.65

z 192.67 53.04 228.55 63.65
[T
1 —
v
Fs = >V p +c B L 192.67 x 0.577 + 0.0 x 2.400 x 1.000
B T H B 53.04
= 2.10 Fsa = 1.5
> Mr 228.55
Fs = s Mo 63.65 3.59 Fsa = 1.50
R
> Mr - X Mo 228.55 - 63.65

d = sV ) 192.67 = 0.856 (m)

R

e = 2 -d= 2'300 - 0.856 = 0.344 (m)

0.344 (m) 4%7 B =

0.400 (m)



3)

G TV 6 e 192.67 o, 6x 0.3u
@ B L B 2.400 x 1.000 2.400
149.32 (kN/n?)
11.24 (kN/n?)

L]

11.24

149.32




5.2.2

D

2)

No. 14

No v H X y Mr Mo
(kN) (kN) (m) (m) (kN m) (kN m)
1 25.60 0.496 | 0.998 12.70
2 144.27 1.297 | 1.911 187.12
3 53.04 | 2.400 | 1.200 63.65
z 169.87 53.04 199.82 63.65
2
K d
1
U
Fs = >V p +c B L _ 169.87 x 0.577 + 0.0 x 2.400 x 1.000
- ZH - 53.04
= 1.85 Fsa = 1.5
> Mr 199.82
Fs = s Vo 63.65 3.14 Fsa = 1.50
R
> Mr - X Mo 199.82 - 63.65
d = sV 169.87 = 0.802 (m)
R
e = 2 -d= 2'300 - 0.802 = 0.398 (m)
1
le] = 0.398 (m) 5 B = 0.400 (m)



3)

¢ ZV 6 e 169.87

= + =
¢ B L M5 )7 2400x 100 * €L

141.20 (kN/m?)
0.35 (kN/m?)

6 x

0.35

141.20

0.398
2.400

No.
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No.

§6

6.1

ove"¢€

09°0




6.2
6.2.1
iy
Pa
a = 2.92 (°) gkg/m)
W = 6.59 (k\/m) [ 4.08] I
w = 55.80 )
6 = 20.00 (°) 2.0
@ = 30.00 )
1.0
0.%0
Pa = 6.59 x sin(55.80 - 30.00)

~ cos (55.80 - 30.00 - 20.00 - 2.92)
2.87 (KN/m)

I

W

\ 55.80°

—

60 70 80

No.

40 50 90 100
w ()

w Pa W
60.00 2.827 5.61
59.00 2.842 5.83
58.00 2.861 6.07
57.00 2.863 6.29
56.00 2.871 6.54

* 55.80 2.872 6.59
55.00 2.863 6.77
54.00 2.856 7.02
53.00 2.845 7.28
52.00 2.825 7.54
51.00 2.797 7.80

17



2)

No.
Pa
a = 2.92(C) gr/m)y
W = 98.02 (k\/m) [ 23.26] T
w = 56.80 () 40.0]
o = 20.00 (°)
@ = 30.00 (°) 30.0]
20.04
10.04
0% "4 50 16‘0 70 80 90 100
w(®)
Py = 98.02 x sin(56.80 - 30.00)
cos (56.80 - 30.00 - 20.00 - 2.92)
= 44.30 (kN/m)
A
w Pa W
61.00 43.728 84.06
56.80° 60.00 43.975 87.28
59.00 44.148 90.55
58.00 44 .257 93.90
57.00 44.295 97.32
* 56.80 44.297 98.02
56.00 44.261 100.82
55.00 44150 104.40
54.00 43.964 108.07
53.00 43.699 111.84
52.00 43.344 115.69
H =Pa cos(® +a) L
L - ( ) L =1.000 (m)
Pa o a H y
(kN/m) (D) (D) (kN) (m)
2.87 20.00 2.92 2.64 0.200
44.30 20.00 2.92 40.80 1.113

18



6.3
6.3.1

6.3.2

6.4
@

No.
H=2.64 (kN)
H y=2.64 x 0.200
= 0.53 (kN m)
H = 40.80 (kN)
H y=40.80 x 1.113
= 45.41 (kKN m)

b = 1000 (mm) [0 0 0 0 0 © |:}5£

d = 80 (mm)

As = D19 - 6.5 ! 1000 !

= 18.62 (cm’) = 1862 (mm*)
n = 15
n As 2 b d
= -1+ 1+ N AS
15 x 1862 2 x 1000 x 80

= X -1 + 1+

1000 15 x 1862
=  44.5 (mm)

M= 0.53 (kN m)
S = 2.64 (kN)
_ 2 M _ 2 x 0.53 x 10°
b x d- ‘%;’ 1000 x 44.5 x (80 - 444%;5,)
= 0.37 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
_ M _ 0.53 x 10°
- X - 44.5
As d - 3 1862 x (80 - 3 )

= 4.4 (N/mm?) osa= 160 (N/mm*) 0.K.
_ s 2.64 x 10°
~ b d 1000 x 80
= 0.03 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

19



No.

3]
8
b = 1000 (mm) 6 0 0o o o o |-V
d = 220 (mm)
As = D19 - 6.5 1000
= 18.62 (cm’) = 1862 (mm*)
n = 15
n As 2 b d
X = b -1+ 1+ N AS
15 x 1862 2 x 1000 x 220
= X -1 + 1+
1000 15 x 1862
= 86.4 (mm)
M= 45.41 (kN m)
S = 40.80 (kN)
2 M 2 x 45.41 x 10°
oc= x 86.4
b x d—T 1000 x 86.4 x ( 220 - 3-)
= 5.50 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
o = M B 45.41 x 10°
- X - 86.4
As d - 3 1862 x ( 220 - 3 )
= 127.6 (N/mm*) osa= 160 (N/mm*) 0.K.
= S 40.80 x 10°
b d = 1000 x 220

0.19 (N/mm*) Ta = 0.45 (N/mm*) 0.K.



§7

7.1

@

)
)
]
2.140
A X
(m m ) (m A x (m)
2.140x 0.260= 0.556 1.070 0.5949
-1/2x 1.840x 0.140= -0.129 1.227 -0.1583
- 0.300x 0.140= -0.042 1.990 -0.0836
0.385 0.3530
A X 0.3530
X = s A = 0385 - 0.917 (m)
S =A yc L= 0.385 x 24.5 x 1.000 = 9.43 (kN)
M =S x = 9.43 x 0.917 = 8.65 (kN m)

a—Th]

No.

21



&)

A X
(m m ) (m A x ()
2.140x 3.480= 7.447 1.070 7.9683
a| -1/2x 1.840x 0.140= -0.129 0.613 -0.0791
7.318 7.8892
A X 7.8892
X = 5 A = 7318 - 1.078 (m)

S =A ys L= 7.318 x 19.0 x 1.000 = 139.04 (kN)

M =S x = 139.04 x 1.078 = 149.89 (kN m)

)

10.00 (kN/n?)

o
1]

S =g b L= 10.00 x 2.140 x 1.000 = 21.40 (kN)

x
1]

1.070 (m)

M =S x= 21.40 x 1.070= 22.90 (kN m)




©)
D

2)

Q:
Q2

Qs

149
11

g +

.32 (kN/m?)

24 (kN/m?)

I,
(- ) B
134.36 (kN/m?)

= 11.24 + ( 149.32 -

2.140

11243 =5 400

(@ +q) L L ( 134.36 + 11.24) x 2.140 x 1.000
2 - 2
155.79 (kN)
I 2 g +@ _ 2.140 2 x  11.24 + 134.36
3 o + O -3 11.24 + 134.36
0.768 (m)
S x = 155.79 x 0.768 = 119.65 (kN m)

141.20 (kN/n?)
0.35 (kN/m*)

I,
O + (- Qz) B

125.94 (kN/n?)

= 0.35+ ( 141.20 -

2.140

0-35)% = 400

(@ +q) I L ( 125.94 + 0.35) x 2.140 x 1.000
2 - 2
135.13 (kN)
I 2 g +q _ 2.140 2 x 0.35 + 125.94
3 o + O -3 0.35 + 125.94
0.715 (m)
S x = 135.13 x 0.715 = 96.62 (kN m)

No.

23



7.2

1)
No S M
(kN) (kN m)
1 9.43 8.65
2 139.04 149.89
3 -155.79 -119.65
4 21.40 22.90
14.08 61.79
Mo = 45.41 (kN m) M
M = Mo
2)
No S M
(kN) (kN m)
1 9.43 8.65
2 139.04 149.89
3 -135.13 -96.62
13.34 61.92
Mo = 45.41 (kN m) M
M = Mo

45.41 (kN m)




7.3

No.
&
b = 1000 (mm) 6 0 0o o o o |-V
d = 220 (mm)
As = D19 - 6.5 1000
= 18.62 (cm’) = 1862 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 1862 2 x 1000 x 220
= 1+ /14
1000 15 x 1862
86.4 (mm)
M= 45.41 (kN m)
S = 14.08 (kN)
2 M B 2 x  45.41 x 10°
b x d- Ag, 1000 x 86.4 x ( 220 - 82'4 )
5.50 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
M B 45.41 x 10°
X - 86.4
As d - 3 1862 x ( 220 - 3 )
127.6 (N/mm?) osa= 160 (N/mm*) 0.K.
S 14.08 x 10°
b d 1000 x 220

0.06 (N/mm*)

Ta = 0.45 (N/mm*) 0.K.

25



No. 26

§8 ( )
( )
8.1
|
01300
@
A=b h= 0.300 x 0.120 =  0.036 (m)
S =A yc L= 0.03 x 24.5x 1.000 = 0.88 (kN)
M =S x = 0.8 x 0.150 =  0.13 (kN m)
@
A=b h= 0.300 x 3.480 =  1.044 (m)
S =A ys L= 1.044 x 19.0 x 1.000 = 19.84 (kN)

M =S x = 19.84 x 0.150 =  2.98 (kN m)




3

g = 10.00 (kN/m*>)
S =g b L= 10.00 x 0.300 x 1.000 =  3.00 (kN)
x = 0.150 (m)
M =S x= 3.00x 0.150 =  0.45 (kN m)
(C)
D
g = 149.32 (kKN/m?)
g = 11.24 (KN/m)
Qs = Qe + (ql— qz) %Z 11.24 + ( 149.32 - 11_24))( (2):288
= 28.50 (kN/m*)
g - (@ +q@) I L _ ( 2850+ 11.24) x 0.300 x 1.000
- 2 - 2
= 5.96 (kN)
y B 2 g +@ _ 0300 = 2x 11.24+ 28.50
T3 o + g -3 11.24 + 28.50
= 0.128 (m)
M = S x = 5096 x 0.128= 0.76 (kN m)



8.2

2)

D

2)

No.

o = 141.20 (kKN/m*)
o =  0.35 (kN/m)
G =g + (G- G) 44%3,: 0.35 + ( 141.20 -  0.35)x g:jgg
= 17.96 (kN/m)
s (@ +q) L L ( 17.96 + 0.35) x 0.300 x 1.000
2 2
= 2.75 (kN)
y I. 2 @ +qg _ 0.300 2 x 0.35 + 17.96
3 o + O T3 0.35 + 17.96
= 0.102 (m)
M = S x = 2.75x 0.102 =  0.28 (kN m)
No S M
(kN) kN m)
1 0.88 0.13
2 19.84 2.98
3 -5.96 -0.76
4 3.00 0.45
b3 17.76 2.80
No S M
(kN) kN m)
1 0.88 0.13
2 19.84 2.98
3 -2.75 -0.28
b3 17.97 2.83
S = 17.97 (kN)
Moo= 2.83 (kN m)

28



8.3

No.
b = 1000 (mm) [0 0 0 0 0o o] &
d = 80 (mm) ‘ 1000 ‘
As = D19 - 6.5 ‘ ‘
= 18.62 (cm’) = 1862 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 1862 2 x 1000 x 80
= 1+ /1 +
1000 15 x 1862
44.5 (mm)
M= 2.83 (kN m)
S=  17.97 (kN)
2 M _ 2 x 2.83 x 10°
b x d- Ag, 1000 x 44.5 x (80 - 4g'5 )
1.95 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
M _ 2.83 x 10°
X - 44.5
As d - 3 1862 x (80 - 3 )
23.3 (N/mm?*) osa= 160 (N/mm*) 0.K.
s 17.97 x 10°
b d 1000 x 80
0.22 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

29



